
©a E2i0Q1s9b [KnuEtYag `SDo`fQtMwBaxrBej _LyLLCW.q I aAglKly lrCitgAhst^sd FrteDsuelrhvTewdL.A s WMBasdfeD HwWi`tchp BIDnqfoi\nfiDtwes yA^lKg_e[blrIaq h2M.

Worksheet by Kuta Software LLC

PC - Functions

1.6 Combining & Composition of Functions
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Perform the indicated operation (see where it says "Find").  Find the domain using interval
notation (no range because this is not efficient in Precalculus).

1)  f (x) = x2 - 5x
g(x) = 2x + 3
Find f (x) × g(x)

2)  f (x) = 2x2 - x
g(x) = -4x + 3
Find f (x) - g(x)

3)  g(x) = x3 + 2
h(x) = 3x + 4

Find 
g(x)
h(x)

4)  g(x) = -x2 - 4x
h(x) = -7x - 23

Find (gh )(x)

5)  h(x) = -x + 5

g(x) = 2x - 4

Find 
h(x)
g(x)

6)  g(x) = 8x - 7

f (x) = -13x + 15
Find (g - f )(x)
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7)  f (x) = x - 2
g(x) = -x - 1
Find ( f   g)(x)

8)  f (x) = 
1

-4x + 1
g(x) = 2x - 5
Find f (g(x))

9)  h(x) = 4x + 5
g(x) = x2

Find g(h(x))

10)  g(x) = x2 - 2

h(x) = 2x - 1
Find (g  h)(x)

11)  g(x) = 4x + 5
f (x) = 2x - 3
Find g( f (x))

12)  h(x) = 4x + 5
g(x) = -2x + 4
Find h(g(x))
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Answers to 1.6 Combining & Composition of Functions

1)  f (x) × g(x) = 2x3 - 7x2 - 15x
D:  (-¥, ¥)

2)  f (x) - g(x) = 2x2 + 3x - 3
D:  (-¥, ¥) 3)  

g(x)
h(x)

 = 
x3 + 2

3x + 4

D:  (-¥, -
4

3) U (- 4

3
, ¥)

4)  
g(x)
h(x)

 = 
-x2 - 4x
-7x - 23

D:  (-¥, -
23

7 ) U (- 23

7
, ¥)

5)  
h(x)
g(x)

 = 
-x + 5

2x - 4
D:  (2, ¥)

6)  (g - f )(x) = 8x - 7 - -13x + 15

D:  [
7

8
, 

15

13
]

7)  ( f   g)(x) = -x - 3
D:  (-¥, -3]

8)  f (g(x)) = 
1

-8x + 21

D:  (-¥, 
21

8 ) U (21

8
, ¥)

9)  g(h(x)) = 4x + 5

D:  [-
5

4
, ¥)

10)  (g  h)(x) = 2x - 3

D:  [
1

2
, ¥)

11)  g( f (x)) = 8x - 7

D:  [
7

8
, ¥)

12)  h(g(x)) = -8x + 21

D:  (-¥, 
21

8
]


